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PA.A.1.1

For each of the following relations tell whether the set is a function.
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Determine whether the ordered pairs represent a function.

(5} {(0,3),(15).(2:3),(3.1.(4.0)} @ {(3-1).(2.-5).(5,5),(3,-5),(4,6)

Determine whether or not each data set represents a function.

X A X y
0 2 -3 4
1 3 2 7
3 5 2 6
5 7 4 9
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Arial is a beautician. She charges different rates for different lengths of
hair. What are the dependent and independent variables?

Qwa‘

.+ Chase needs to get a good grade on his next Algebra tesi. He must study

e
a lot in order to get a good grade? What are the dependent and
independent variables?
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Determine whether or not each data set represents a function. 35
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C Arial is a beautician. She charges different rates fo'r different lengths of
hair. What are the dependent and independent variables?
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Kendall weighs 130 pounds. She goes to ABC Gym and starts exercising. The
graph below shows the number of hours she exercised and the pounds she lost.

Kendall's Weight
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Hours Excercised

What does the y-intercept represent?

2. What is the ratio of the slope of the line?

How many pounds had Kendall lost after 2 hours of exercise?

Is the slope negative or positive?
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A furnace technician chargés $20 per hour and a one-time service
charge of $30. Whjch equation represents the total charge (y) for
working x hours?

A y = 20x + 30
B y =30x+ 20
C y = 20(x - 30)
D y = 20(x + 30)
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Kendall weighs 130 pounds. She goes to ABC Gym and starts exercising. The
graph below shows the number of hours she exercised and the pounds she lost.
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Houes Bxcercised

1. What does the y-intercept represent? Thibe {,ruu\r\g Wa’\ﬂhf or ‘/’I/UZ
weight with noLxercise (130 [bs)

h(lngg:in IJ”VQ!BUD What is the ratio of the slope of the line? ¢ | 5’ hi

ange i XUalues hours exercised
3. How many pounds had Kendall lost after 2 hours of exercise?
|0 bs
4, Is the slope negative or positive?
[eqati ve
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A furnace technician chargés $20 per hour and a one-time service
charge of $30. Whjch equation represents the total charge (y} for

working x hours? ; _ ) 2

(a) y = 20x + 30 QSKWSQW” WM%I/W'/KS/__
By = 30x + 20 U//’M’f /s NS 1t
C y = 20(x - 30) .

D y = 20(x + 30)




